Math 114
Functions Review

(11 [a]

[c] If f(x)=5-24—x, find f(-5).

[2] Find the domains of the following functions.

You should be able to solve the following without a calculator

[a] f(x)=x"+3x

[e]  f(¥)=+v8-x-6

[3] Find the ranges of the following functions.

[a]  f(O)=—F-4

x+5

(4] [a]

2

If f(x)=x>+3x-5,find f(-2).

If f(x)=2-3x—x",find f(a—-1).

[5] Which of the following are functions ?

[a]
x| 25809
3 2211

[b]
x| 64774
| 3241

[c]
x |1 [3]0]10
| -1 3010

[6] Find the inverses of the following functions.

[l f(x)=5-2x

[7] Which of the following graphs represent functions ?

[d]

[b]

[e]

b] If f(x):%,ﬁnd £03).

R

-1
2x-3

[b]  f(¥)=

[b] f(x)=7—-4x+9

[b] If f(x)=2x"+5x+1, find f(a+3).

f(x)=4-3-x

[c]

[f]



[8]

[a]

[d]
[9]
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[8]  [a]

[9]

Which of the following graphs represent one-to-one functions ?

[b]

[e]

Sketch the graph of the inverse of the following function.
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[b] {x * 5}

<7}

20> +17a+34
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fx)=3-(4-xf
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Functions Review

You should be able to solve the following without a calculator


[1]
[a]
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[b]
If 
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[c]
If 
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[2]
Find the domains of the following functions.



[a]
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[b]
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[3]
Find the ranges of the following functions.



[a]
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[b]
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[a]
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[5]
Which of the following are functions ?



[a]



		x

		2

		5

		8

		9



		f(x)

		3

		-2

		-2

		1






[b]



		x

		6

		4

		7

		4



		f(x)

		3

		-2

		4

		1






[c]



		x

		-1

		3

		0

		10



		f(x)

		-1

		3

		0

		10





[6]
Find the inverses of the following functions.



[a]
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[7]
Which of the following graphs represent functions ?


[a]
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[8]
Which of the following graphs represent one-to-one functions ?


[a]
[image: image24.png]





[b]
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[c]
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[d]
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[e]
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[image: image29.png]





[9]
Sketch the graph of the inverse of the following function.
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[1]
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[2]
 [a]
all real numbers

[b]
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[5]
[a]
yes


[b]
no


[c]
yes


[6]
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